EAGRAROBREERT — 2 N— ABISH —F

2020545290 (k) 3mEISEHA2H

m&%%%" 2 ¥7R3® (xwlw | mEmml - |5 ) o 8
[xE£] 1 %:380,000M  2%:88,000M™ ~ 3#%&:38000M  43%&:27,000H ~ 53#:19,000 ™
E BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
BHENT : 55— — HOEEZ (%)
i1l |Fzu-Ev”s i 3 el 1.(2_8).9 5-5-5-2 | 39.9 4 422)2 rppisdcd &
R:T1/—*/ B:H—I—HU5 R /A7 NI 1T
S = [fE] B &AL :29. -8-8~ . — BB/ (&)
B FYITN—— i 3 D 1(235'))5 9-8-8-6 | 38.7 3 (3+917) Rk A
L:O—I>FU> B:gANrTay il SRR
N PG : —~6-6- - EEERERA (S5HA)
sl 3| b —Y>27U s 54.0 (17;25?% 6664 | 3.2 > :i; =Mk N
L:T7oFANNE B:F1—XT) & J{N=ie)
SEN iyl : -3-3- — HEZEZ (5H)
4 EE PR 4 3 e 1.(219).7 3-3-3-3 | 40.5 2 :_313) ke A
R:7VA—v B:TATIAIRY T—IRT7—L
IR 4 3 | EHKRE 1:29.7 1-1-1-1 | 40.7| — 1 454 | EEEREAL (S54R)
3 6 FARLEE 54.0 (7€) @y | (B MIRA I
AT/ RIA47T B:ovrIb—> FIER  SRTHE
7 H o3 | EEE 1:30.0 1-11-11-11{ 37.8 | — 10 | 467 |®RESE (1)
c PN 4 EQIZ= PN 56.0 (1 1/2) 0 FHET
L:Fx L JANZ N B:vILIEF— [okgse ]
. + 4 3 | R 1:30.1 7-7-7-8 | 39.6| — 9 M7 | BEEE (EW)
71718 XA —H— A51.0 (7€) 0 MARNEA :
R:Er/Q7aq4 B:orxqA49a7— BR24%u5
- SERZ . -10-10- - RBW (51)
glsls| KU—LT1 4 3 naR 1.(320).5 10-10-10-9 | 39.3 7 (4;3; i A
iECTAYY BiYCTF—XEY-— A4 =TT =L
helzskey :31. —-4-4- . — 1REER— (%1R)
olgly| EPIV /Ty x— i 3 P 1(351)5 4-4-4-5 | 42.2 8 ;1+320) it &
R:hT/ RI147T B:N—bTA4N—=F N 45035
Sy — ) T HZ :32. —9-9- . — FEARB— (A
10 6 J— R¥yq1 =24 t> 3 ek 1(332)1 8-9-9-10 | 41.4 1 (4+524) e A
R:Y9RG4 T2 B:U—KFvzo AR
. RS : 00— — RBR (551)
1lzlg | FvFrepy b 4 3 Bl 1.(312>.3 2-2-2-7 | 43.2 6 (3;0) ED%;& A
L:vENTA— BiNYRRAD Ak —8l
@ 1 —F—&EBlIEfL
13—7+— 7,9,10,11,1,3,8,6,2,5,4
2=l=C— 7,9,10,11,1,3,8,2,6,5,4
Gal=7r= 7,9,10,11,1,3,8,2,6,5,4
41—+ — 7,1,10,3,11,2,9,8,5,6,4
[ N3
BB 1 850M 714K 1-2 710 e 1-2 1,710 3JEHE 1-2-3 5,220/
8 B 1 210M 1-3 1,170 B = 1-2 1,890 K31 1-2-3 23,930
2 210M 2-3 1,230M B H 1-2 4,670M
3 400M

ARICOVWTRDTEEERROODE. TR LI,




